

2.5 Part 2

Monday, June 27, 2022 9:21 AM

2.5 Factoring polynomial ax^2+bx+c part 2

Example 1: Factor the polynomials.

a) $\frac{6x^2}{2} + \frac{20x}{2} - \frac{16}{2}$ GCF = 2

$$2(3x^2 + 10x - 8)$$

$-2 \times \underline{\quad} = -24$
 $\underline{-2} + \underline{12} = 10$

$\underbrace{\hspace{10em}}_{3(-8)}$

$$2[3x^2 - 2x + 12x - 8]$$

$$2[x(3x-2) + 4(3x-2)]$$

$$2(3x-2)(x+4)$$

b) $\frac{-a^2}{-1} - \frac{19a}{-1} + \frac{20}{-1}$ GCF = -1

$$-1(a^2 + 19a - 20)$$

$\underline{-1} \times \underline{\quad} = -20$
 $\underline{-1} + \underline{20} = 19$

$\underbrace{\hspace{10em}}_{(1)(-20)}$

$$-1[a^2 - 1a + 20a - 20]$$

$$-1[a(a-1) + 20(a-1)]$$

$$-1(a-1)(a+20)$$

c) $\frac{-4x^2}{-4} - \frac{16x}{-4} + \frac{128}{-4}$ GCF = -4

$$-4(x^2 + 4x - 32)$$

$\underline{-4} \times \underline{\quad} = -32$
 $\underline{-4} + \underline{8} = 4$

$\underbrace{\hspace{10em}}_{(1)(-32)}$

$$-4[x^2 - 4x + 8x - 32]$$

$$-4[x(x-4) + 8(x-4)]$$

$$-4[(x-4)(x+8)]$$

or

$$-4(x-4)(x+8)$$

d) $\frac{12x^2y}{2y} - \frac{14xy}{2y} - \frac{40y}{2y}$ GCF = 2y

$$2y(6x^2 - 7x - 20)$$

$\underline{2y} \times \underline{\quad} = -120$
 $\underline{8} + \underline{-15} = -7$

$\underbrace{\hspace{10em}}_{6(-20)}$

$$2y[6x^2 + 8x - 15x - 20]$$

$$2y[2x(3x+4) - 5(3x+4)]$$

$$2y(3x+4)(2y-5)$$